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QUESTION NO: 1

When preparing a cluster for Event Manager to be deployed on RedHat OpenShift, which command prepares the 
namespace?

A. kubect1 add namespace 

B. ocp create namespace 

C. oc create namespace 

D. cloudct1 add namespace 

ANSWER: C 

QUESTION NO: 2

Which statement is true regarding an Event Manager installation on RedHat OpenShift?

A. Existing on-premises Event Manager components can only communicate with cloud-based components using a mediation 
package.

B. Existing on-premises probes cannot be connected to cloud-based Event Manager components.

C. Existing on-premises ObjectServers cannot be connected to cloud-based Event Manager components.

D. Existing on-premises probes can be connected to a cloud-based ObjectServer.

ANSWER: C 

QUESTION NO: 3

Where is the Metric Manager data aggregation interval set?

A. In the GUI per topic

B. In the GUI per data stream

C. In the administrative CLI per topic

D. In the admin-cli per data stream

ANSWER: B 

QUESTION NO: 4

https://dumpsqueen.com/


DumpsQueen - Pass Your Next Certification Exam Fast!
dumpsqueen.com

What are two valid refresh intervals for topology view auto-updates to search for and include new changes?

A. 10 minutes

B. 1 minutes

C. 5 seconds

D. 2 minutes

E. 30 seconds

ANSWER: B C 

QUESTION NO: 5

Which statement is true about a topology merge rule?

A. Specifies that the value of a resource field should be copied to the matchTokens field so that it can be used to merge 
events to resources

B. Merges two or more events together and relate them to the same topology resource

C. Specifies that the value of a resource field should be copied to the tags field so that it becomes searchable in the Ul

D. Specifies that two resources from different topology Observer jobs in fact refer to the same physical device

ANSWER: C 

QUESTION NO: 6

Which statement is true when configuring an LDAP user registry for Metric Manager?

A. Default LDAP configuration is equal to default CloudPak LDAP settings, however Single Sign On (SSO) with DASH 
should be configured.

B. There is no need to configure LDAP user registry as Metric Manager is part of Cloud Pak for Watson AlOps.

C. It is necessary to create an IdapRegistry.xml file with appropriate content for the LDAP server.

D. The LDAP directory must be assigned to a Team as a resource before configuring an LDAP user registry for Metric 
Manager.

ANSWER: B 

QUESTION NO: 7

Which two are valid RedHat OpenShift pod errors?
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A. CreatePodSecretError

B. PodPersistenceError

C. CrashLoopBackOff

D. CreateContainerConfigError

E. ContainerRestartLimitReached

ANSWER: B E 

QUESTION NO: 8

Which two metric data export formats are supported by Metric Manager?

A. JSON

B. Streamlation

C. CSV

D. Parquet

E. Avro

ANSWER: A C 

QUESTION NO: 9

What are two of the templates that are available in the Resource group templates of Al Manager?

A. File-based template

B. Dynamic template

C. Topology template

D. ScopelD-based template

E. Tag-based template

ANSWER: B E 

QUESTION NO: 10

Which two log files are generated in Metric Manager?

A. Installation
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B. Application

C. Activity

D. Mediation Tool

E. Data Operation

ANSWER: D E 
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